
HU
PL

Narutowicza 181
97-500 Radomsko

Poland
e-mail:  dsv.dmytro2018@gmail.com

Szükésge lesz : 
Niezbędne do montażu :

INVENTO
x12

IN-14 Vertical: 160cm - V23032019

ÖSSZESZERELÉS 
INSTRUKCJA 
MONTAŻU

2,5 ~ 3 h

160V 181x220x42 cm

160V 181x220x228 cm

Max. 250 kg

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

Max. 250 kg



4

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 180 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

1

VMN1 R

2

1

ZAB

KS

VM001 L

ZAM

2

ZAC

ST

SM01

25

ZAF

2

VM001 R

22

VMN1 L

LM3   785mm

160V 1900N

10

KP

1

S7

4x16

7
4x30

2

3

S67S60

NS8

M8x16

4

1

1

M8

4

1

2

1

7x50

M6

GO

PSF

S61 M6x16

KN2

20

MW17 M4x25 W9

KL6

4

P6

2

17 19

M8x60

ZS20

3,9x13

126

M8x60

20 4

W6 W42

1

4

M6x30 N-S50

2

KL4

24

S45

KZ5

1

10 - 13 mm

M6 P8

WSZ

OLI

K2

4

18

M8

107

1
8x30

ZB9

TK

3

N-NK

OLI

K3

6

TM1

PM-4.180

25

DB

4

2

NA14 NA20

3

KM

24

LH7.-20

30x20

27

1 48 48

6

PAS 8x20

36

ZP1

6

1

L

1

M12R

4

US 800 mm

1

LED

2

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 180 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

1

VMN1 R

2

1

ZAB

KS

VM001 L

ZAM

2

ZAC

ST

SM01

25

ZAF

2

VM001 R

22

VMN1 L

LM3   785mm

160V 1900N

10

KP

1

S7

4x16

7
4x30

2

3

S67S60

NS8

M8x16

4

1

1

M8

4

1

2

1

7x50

M6

GO

PSF

S61 M6x16

KN2

20

MW17 M4x25 W9

KL6

4

P6

2

17 19

M8x60

ZS20

3,9x13

126

M8x60

20 4

W6 W42

1

4

M6x30 N-S50

2

KL4

24

S45

KZ5

1

10 - 13 mm

M6 P8

WSZ

OLI

K2

4

18

M8

107

1
8x30

ZB9

TK

3

N-NK

OLI

K3

6

TM1

PM-4.180

25

DB

4

2

NA14 NA20

3

KM

24

LH7.-20

30x20

27

1 48 48

6

PAS 8x20

36

ZP1

6

1

L

1

M12R

4

US 800 mm

1

LED

2



5

07.6607.62

01.02

10.11

07.41

07.73

02.01

13.11

07.31

07.64

08.11

10.41

07.32

07.65 07.6307.73

01.01

10.11

02.02

07.42

10.41

08.13

10.41

08.14

08.12

13.12

07.61

07.21

PART
07.73
07.61
07.62
07.65
07.66
07.63
07.64

SIZE
770,5x55x20mm
1967x60x20mm
1967x60x20mm
1967x60x20mm
1967x60x20mm
1607x60x20mm
1607x60x20mm

QUANTITY
2
1
1
1
1
1
1

PART
08.11
08.12
08.13
08.14
07.41
07.42
07.31
07.32
10.41

SIZE
1751x530x18mm
1751x530x18mm
1751x530x18mm
1751x530x18mm
2046x140x16mm
2046x140x16mm
1608x138x16mm
1608x138x16mm
1603x39x3mm

QUANTITY
1
1
1
1
1
1
1
1
3

PART
02.01
02.02
01.01
01.02
07.21
13.12
13.11
10.11

SIZE
1819x422x22mm
1819x422x22mm
2138x420x28mm
2138x420x28mm
1759x74x16mm
1759x422x22mm
1759x422x22mm
1773x505x3mm

QUANTITY
1
1
1
1
1
1
1
2

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

07.6607.62

01.02

10.11

07.41

07.73

02.01

13.11

07.31

07.64

08.11

10.41

07.32

07.65 07.6307.73

01.01

10.11

02.02

07.42

10.41

08.13

10.41

08.14

08.12

13.12

07.61

07.21

PART
07.73
07.61
07.62
07.65
07.66
07.63
07.64

SIZE
770,5x55x20mm
1967x60x20mm
1967x60x20mm
1967x60x20mm
1967x60x20mm
1607x60x20mm
1607x60x20mm

QUANTITY
2
1
1
1
1
1
1

PART
08.11
08.12
08.13
08.14
07.41
07.42
07.31
07.32
10.41

SIZE
1751x530x18mm
1751x530x18mm
1751x530x18mm
1751x530x18mm
2046x140x16mm
2046x140x16mm
1608x138x16mm
1608x138x16mm
1603x39x3mm

QUANTITY
1
1
1
1
1
1
1
1
3

PART
02.01
02.02
01.01
01.02
07.21
13.12
13.11
10.11

SIZE
1819x422x22mm
1819x422x22mm
2138x420x28mm
2138x420x28mm
1759x74x16mm
1759x422x22mm
1759x422x22mm
1773x505x3mm

QUANTITY
1
1
1
1
1
1
1
2

Ágyrács keret

Ágykeret

FFrroonnttok



6

12 114

K2 KL6

12

TM1 MW17

8

M128x30

01.02

01.01

TM1

M12

MW17

KL6

K2

MW17

1►

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

12 114

K2 KL6

12

TM1 MW17

8

M128x30

01.02

01.01

TM1

M12

MW17

KL6

K2

MW17

1► HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



7

0

4x16W6

12

6

TM1

LH7.20

6

0

MW17

TM1

6

6

KL6

1

02.01

02.01

02.02

02.02

180

180

TM1

TM1

W6

KL6

MW17

LH7.20

2►

3►

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

0

4x16W6

12

6

TM1

LH7.20

6

0

MW17

TM1

6

6

KL6

1

02.01

02.01

02.02

02.02

180

180

TM1

TM1

W6

KL6

MW17

LH7.20

2►

3►

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



8

12

K2 M12

K3

8x30

4 4

8

GO8x20

13.12

13.11

07.21

GO

K2

M12

K3

45050 50450

4►

5►

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

12

K2 M12

K3

8x30

4 4

8

GO8x20

13.12

13.11

07.21

GO

K2

M12

K3

45050 50450

4►

5►

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



9

ZS20

12

01.01

02.02

13.12

01.02

02.01

13.11

50 mm

52 mm

ZS20

6►

7►

LED

2

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

ZS20

12

01.01

02.02

13.12

01.02

02.01

13.11

50 mm

52 mm

ZS20

6►

7►

LED

2

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::
HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



10

12x

9►

8►

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

12x

9►

8►

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



11

4x16

8

M12 TM1

2

ZAMK2 W68x30

24 4

08.12

08.13

07.31

08.11

07.32

08.14

07.42

07.41

K2

M12
M12

W6

TM1

ZAM

24

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

4x16

8

M12 TM1

2

ZAMK2 W68x30

24 4

08.12

08.13

07.31

08.11

07.32

08.14

07.42

07.41

K2

M12
M12

W6

TM1

ZAM

24

►1100 HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



12

08.14

08.13

W6

486

4x16PM-4.180

10.41
10.41

10.41

08.12

08.11

W6

PM-4.180

90mm

80mm 66mm

102mm

112mm
44mm

11►

►

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

08.14

08.13

W6

486

4x16PM-4.180

10.41
10.41

10.41

08.12

08.11

W6

PM-4.180

90mm

80mm 66mm

102mm

112mm
44mm

11►

► 1122 HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



13

07.31

08.11

07.42 07.32

07.41

KN2 7x50 KL4

14

07.41

07.32

07.42

07.31

KL4

KN2

08.1308.12

08.14

x24

►

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

07.31

08.11

07.42 07.32

07.41

KN2 7x50 KL4

14

07.41

07.32

07.42

07.31

KL4

KN2

08.1308.12

08.14

►1133

►1144

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::
HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



14

8

M8x607x50 KL4 M8

1

S60 P8

1

KN2

1 1

KZ5

1

KP

8 1

7x50

1

KN2

10 - 13 mm

KL4

36

LM3   160V 785mm

KL4

S60

P8

KZ5

KN2

KN2

KL4

LM3

KP

LM3

M8

07.64

07.61

07.64

07.63

07.62

07.65

07.63

07.66

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

8

M8x607x50 KL4 M8

1

S60 P8

1

KN2

1 1

KZ5

1

KP

8 1

7x50

1

KN2

10 - 13 mm

KL4

36

LM3   160V 785mm

KL4

S60

P8

KZ5

KN2

KN2

KL4

LM3

KP

LM3

M8

07.64

07.61

07.64

07.63

07.62

07.65

07.63

07.66

►1155

►1166

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



15

07.6207.41

07.73

07.73

07.3107.64

17►

18►

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

07.6207.41

07.73

07.73

07.3107.64

17►

18►



16

P6

KN2

6

1

M6x30

1

P8

6

1

KZ5 KP

1

4

M6

4

10 - 13 mm

6

12

VM001 L

S67M8x60

VM001 RKL47x50

S60 M8

4

321

VM001 R

S60

KZ5

S67

KN2

P6

S60

P8VM001 L

KL4

S67

M6

S60

KL4M8

KP

S60

S67
KN2

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

P6

KN2

6

1

M6x30

1

P8

6

1

KZ5 KP

1

4

M6

4

10 - 13 mm

6

12

VM001 L

S67M8x60

VM001 RKL47x50

S60 M8

4

321

VM001 R

S60

KZ5

S67

KN2

P6

S60

P8VM001 L

KL4

S67

M6

S60

KL4M8

KP

S60

S67
KN2

►1199 HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



17

1

S7 M8x60 KP

1

VMN1  R

1

7x50 PSF

2

KZ5 M8

KL4

10 -13 mm P8

1

10

KN2

2

10

VMN1  L

1

10
20x20

S7

KZ5 P8
S7

KZ5

M8

P8

M8

KL4 KN2

KP

VMN1  L

KP

PSF

VMN1  R

250mm

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

1

S7 M8x60 KP

1

VMN1  R

1

7x50 PSF

2

KZ5 M8

KL4

10 -13 mm P8

1

10

KN2

2

10

VMN1  L

1

10
20x20

S7

KZ5 P8
S7

KZ5

M8

P8

M8

KL4 KN2

KP

VMN1  L

KP

PSF

VMN1  R

►2200

250mm

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



18

SG

2 6

20NA20160V - 1900N GO

14

2

M6x16S61 KL4

click

NA20

KL4

SG

S61

250mm

45mm

min 5 mm

GO

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

SG

2 6

20NA20160V - 1900N GO

14

2

M6x16S61 KL4

click

NA20

KL4

SG

S61

250mm

45mm

min 5 mm

GO

►2211

►2222

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



19

10

KL4M6x16S61

1

S45 M4x25

2

S61

KL4

1

US 800mm

1

2
2

4
S45

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

US

10

KL4M6x16S61

1

S45 M4x25

2

S61

KL4

1

US 800mm

►2233

S45

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



20

PL

EN

PL

Widok wewnętrzny

SM01

ST

W6

KP

NS8

SM01

62

NS8

2

4x16W6

1

KP 10 - 13 mm

 5 ~ 10 cm

Le
ng

th
2

Length 1

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

PL

EN Egy személy tartja a keretet, míg a másik hátulró rögzíti a gázrugót.
Az ST a VM001 tetejére helyezendő. 
Az ST az NS8-al meghúzandó. 
Az INVENTO csak akkor nyitható le, ha az a falhoz van rögzítve és a 
gázrugók be vannak szerelve/rögzítve vannak.. 

JJeeddnnaa  oossoobbaa  mmuussii  pprrzzyyttrrzzyymmaaćć  ffrroonntt,,  aabbyy  sspprręężżyynnyy  mmoożżnnaa  bbyyłłoo  
bbeezzppiieecczznniiee zzaammooccoowwaaćć  oodd  ttyyłłuu..  UUmmiieeśścciićć  SSTT  nnaa  ggóórrnnyymm  
zzaawwiieesszzeenniiuu  VVMM000011.. ZZaammooccoowwaaćć  SSTT  zzaa  ppoommooccąą  NNSS88..
ŁŁóóżżkkoo  IINNVVEENNTTOO  mmoożżnnaa  oottwwoorrzzyyćć  ddooppiieerroo  ppoo  zzaammoonnttoowwaanniiuu  
sspprręężżyynn ggaazzoowwyycchh  ii  pprrzzyymmooccoowwaanniiuu  łłóóżżkkaa  ddoo  śścciiaannyy..

Hátsó részHU

PL

Widok wewnętrzny

SM01

ST

W6

KP

NS8

SM01

62

NS8

2

4x16W6

1

KP 10 - 13 mm

 5 ~ 10 cm

►2244

Le
ng

th 
2

Length 1

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



21

Le
ng

th 
2

Length 1

EN Length 1 = Length 2
PL Długość 1 = Długość 2

25

WSZ

W6

TK

WSZ

W6 4x16TK WSZ

2727

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

►2255

Le
ng

th 
2

Length 1

EN Length 1 = Length 2
PL Długość 1 = Długość 2

25

WSZ

W6

TK

WSZ

W6 4x16TK WSZ

2727

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



22

53 mm

21
40

 m
m

657mm 53 mm53mm

40
 m

m

657mm

Wkręty i kołki rozporowe do ściany (nie są przewidziane w dostawie).

Mocowanie do ściany " KS " musi być zamontowane za pomocą
odpowiednich kołków rozporowych.

KS

PL

PL

Rozmiar i rodzaj kołków wyznacza się w zależności od typu ściany.

KS

3
x12

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

53 mm

21
40

 m
m

657mm 53 mm53mm

40
 m

m

657mm

SDübeleket a csomag nem tartalmaz. Méret és típus a 
fal típusától függy..
Wkręty i kołki rozporowe do ściany (nie są przewidziane w dostawie).

Mocowanie do ściany " KS " musi być zamontowane za pomocą
odpowiednich kołków rozporowych.

KS

PL

HU
PL

HU

Rozmiar i rodzaj kołków wyznacza się w zależności od typu ściany.

KS

3

►2266

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

A«KS» rögzítőelem megfelelő dübelekkel
rögzítendő a falhoz.

Mocowanie do sciany «KS» nalezy zamontowaé 
za DOínOCcl odpov.iednich kolków rozporowych, 
dopasowanych do rodzaju sciany. 



23

S61

KL4

S61 KL4

6 1

M6x16

PL

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

S61

KL4

S61 KL4

6 1

M6x16

HU

PL

►2277

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

Egy személy a keretet 
kell tartsa míg a másik 
lenyitja az előlapot.

Osoba rrusi trzymaé 
korpus w trakcie 
rrontazu. 



24

ZAFW6

NA14 W9

N-NK8

N-S50

ZAB

ZAC

KZ5

25

ZAF N-S50W9

2

ZAB

2

25

6

1

4x16 4x30

4

W6 fi14

4

KZ5

1

NA14

ZAC
2

M8x16

4

42

N-NK8P8 M8

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

ZAFW6

NA14 W9

N-NK8

N-S50

ZAB

ZAC

KZ5

25

ZAF N-S50W9

2

ZAB

2

25

6

1

4x16 4x30

4

W6 fi14

4

KZ5

1

NA14

ZAC
2

M8x16

4

42

N-NK8P8 M8

►2288

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



25

Widok wewnętrzny. Element DB zamontować
bezpośrednio za elementem 07.21.

PL

EN
PL

KM

ZB9

ZP1

W6

W42

PAS

DB

KL4

ZB9

14

KM DB

3

ZP1W6 3,9x13

1

26

W42 PAS4x16

1

KL4

30x20

3

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

Widok wewnętrzny. Element DB zamontować
bezpośrednio za elementem 07.21.

PL

EN
PL

IBelső rész..  A  DDBB  a 07.21 rész mögé kerül

KM

ZB9

ZP1

W6

W42

PAS

DB

KL4

ZB9

14

KM DB

3

ZP1W6 3,9x13

1

26

W42 PAS4x16

1

KL4

30x20

3

►2299

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::

I HUI A fedőlemez megereszkedése esetén
a DB közepén lévő csavarral vissza lehet vinni normál helyzetbe.

1 PLI W 
rnozlivVa 

przypadku 
regulacja 

wygi�cia 
jej poziomu 

górnej 
za 
plyty 

pornoeq 
korpusu 

sruby
jest



26

W42

OLI R

OLI L

1

LOLI R OLI W42 3,9x13

1 12

LED

LED

2

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

W42

OLI R

OLI L

1

LOLI R OLI W42 3,9x13

1 12

►3300

LED

LED

2

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::



27

PL

Uwaga!
Do czyszczenia używać tylko specjalnej szmatki
do czyszczenia  mebli (nie szmatkę z mikrofibry).
NIE używać ostrych środków czyszczących!
Uwaga!
Istnieje ryzyko samodzielnego zamknięcia łóżka
INVENTO bez materaca!

EN32►

LED

1

Copyrights as well as assembly instructions belong to the DSV Dmytro llchenko company. Do not use texts, copy fragments of text, images,
photos, parts of instructions without the consent of the owner! One or unintentional copyright infringement will be prosecuted!DSV Dmytro Ilchenko®

PL

Uwaga!
Do czyszczenia używać tylko specjalnej szmatki
do czyszczenia  mebli (nie szmatkę z mikrofibry).
NIE używać ostrych środków czyszczących!
Uwaga!
Istnieje ryzyko samodzielnego zamknięcia łóżka
INVENTO bez materaca!

EN

Figyelem! 
Mikroszálas anyagok mellőzése 
javasolt, csak portörlő kendő javasolt.
Mellőzék a takarítószereket! Figyelem!
Az INVENTO ágy matrac nélkül 
magától felcsukódhat.

32►

►3311
LED

1

US

HU: Szüksége lesz
PLL    NNiieezzbbęęddnnee  ddoo  mmoonnttaażżuu  ::




